Year 10 Mathematics Learning Journey: Unit 4

Equations and Inequalities

Step 15 (H):
Quadratic inequalities

Step 13: Complex
equations and
inequalities

Step 14 (H): Quadratics
using factorisation

Solve the inequality x2
>5—-4x

Rearrange and solve the The angles in a triangle

Steps 11 & 12 (R):
Equations and
Inequalities: unknown
both sides

equation x2 —2x = 15 are x+50, x+20 and x-

10. Show that the
triangle is right-angled.

Step 5 (H): Set
notation

Will the solution set of 4x +

8 > 9x + 5 be the same as

the solution set of 9x + 5 >
4x + 87

Step 9 (H): Single Step 10 (H):

State the inequality and
solution in set notation
for the inequality.

Step 5: Number line
representations

inequalities on a graph

inequalities on graph

Multiple

What is the significance of
the dashed line and solid
line when looking at

5 regions of inequalities?

in?

How do you decide which
side of a line to shade in
and which side not to shade

What is the difference in
meaning if the circle is
shaded or unshaded?
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Step 4: Solutions on a number
line

Steps 2&3 (R): Form and solve
equations and inequalities

“l think of a number. | add 7. |
then double it. My answer is less
than 30.” Show the possible
solutions on a number line.

The angles in a triangle form a linear
sequence with common difference 10.
If the smallest angle is x°, work out
the angles in the triangle.
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